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l: STUDY NOTES FOR SSC AND OTHER EXAMS .

NUMBER SYSTEM 8= 2. = eic.
,”,” unnn!n“\‘x‘\\\ ‘ot T ].T
; T 3 i i
work WIth the ,éﬂi;:;:;;;;;;;;;;;;;;:;}; Real numbers- Real numbers include both rational as we
NI 5 : 1
S @M&@ as irrational numbers.
e

W0r|d 0f IllIthfS “-—i—w"‘f-»”j;m Positive or negative, large or small, whole numbers
decimal numbers are all real numbers.

Natural Numbers - Numbers which are used for counting e.g.=1,13.79; 0.01, 3 etc.
the objects are called natural numbers. They are denoted py

N. Imaginary numbers - An imaginary number is a complex
number that can be written as a real number multiplied gy

N={1, 2, 3. .} . . . R .
the imaginary wunit i " i“’ahifch

All positive integers are naturabmbers. 1

Whole numbers- When* zer o’ i s i ncl uldeNote Zero (0) is considered to be both real and imagina

numbers, they are known as whole numbers. number.

They are denoted by W. Prime numbers - A prime number is a natural numbe
greater than 1 and is divisible only by 1 and itself.

W={0, 1, 2, 3 . i }

) e0.2,3,57,11,13,1T9 ............. et c.

Integers- All natural numbers, zero and negatives of naturaj

numbers are called as integers. Note: 2 is the only even prime number.

They are denoted by I. Composite Numbers- A number, other than 1, which is not

a prime number is called amposite number.
F={ . 3,-2,-1, 0, 1, 2, 3.|..

. ) eg. 4, 6, 8, 9, 10, 12, 1
Rational humbers - The numbers whiclsan be expressed

Note: 1. 1 is neither a prime number nor a composi

in the form ofE where P and Q are integers and zare 0 number.
q
called rational numbers 2- There are 25 prime numbers between 1 and 10@.

They are called by Q. To find whether a number is prime or not

1 12 -6 gl
Eg= S 6 (as- 6= T) efc. To checkwhether the number jgrime or not,

1. We take an integer larger than the square root of the

Irrational numbers - The numbers wich cannobe written number. Let the number be 'k
i p ) ) 0 2. Test the divisibility of the given number by every prim
in the form of —where P and Q are integers of.t"\d?’é are humber less than ‘K
called irrational numbers. 3. If it is not divisible by any of them, then the given numb

7 is primeotherwise it is a composite number.

<.g.- \Es \E, ﬁ ete e.g.= Is 881 a prime number ?
Sol The appropriate square root of 881 is 30.

When these numbers are expressed in decimal form, they are
neither terminating nmepeating_ Prime number less than 30 are 2, 3, 5, 7, 11, 13, 17,19, 23[9.
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881 is not divisible by any of the above numbers, so it is a
prime minister.

Co-prime numbers - Two numbers are eprime of their
HCF is 1.

E.g. (2,3), (3,4), (5,7)(3,13) etc.

Even numbers- The number which is divisible by 2 is called
even number.

Eg-2, 4, 6,

Odd numbers— The number which is not divisible by 2 is
called odd number.

eg.= 3, 5, 7, 9 .

Consecutive numbers- A series of numbers in which the
succeeding number is greatbanthe preceding number by
1 is called a series of consecutive numbers.

i.e., Difference between two consecutive numbers is 1.

Some Rules on Counting Numbers

1. Sum of all the first n natural numbers
_n(n+1)
2

NUMBER SYSTEM

CONCEPTS
TIPS AND STRATEGIES
QUESTION
1. What is the digit® in th
1.2 2.8 3.1 4.4
2. A hundred digit number is formed by writing first 54
natural numbers one after the other as
123456 ..ccccevnnne. 5354, Find
this number is divided by 8.
1.4 2.7 3.2 4.0
3. If n=1 +x, wherex s the product of four consecutive

positive integers, then which of thefollowing
statements is/ are true?

() nis odd (2) nis prime
(3) nis a perfect square

1.1only 2. 2 only

3. 3only 4. 1&3 only

10.

11.

P uni
12.

t hies.

14.

l: STUDY NOTES FOR SSC AND OTHER EXAMS .

Thereisasetainat ur al number s
is sud that it finds the HCF betweeamy 2 numbers.
How many ti mes, does t

applied to find the HCF ahe given set of numbers?
1.n/2 2.n-1

3.n 4. None of these

A, B, C are three distinct digits. AB is a two digi
numberand CCB is a three digit numbsuch that

(AB)2 = CCB where CCB > 320. What is the possibl
value of the digit B?

1.1 2.0 3.3 4.9
If 146! is divisible by B, then find themaximum
value ofn.

1.34 2.35 3.36 4. 37
P is the product of all prime numbers from 1 to 100
Then tke number of zeros at the endtbé product is
1.0 2.1
3.24 4. None of these
If N = 1421 x 1423x 1425, what is the remainder
when * N’ is divided by
1.0 2.1 3.3 4.9
What is the 3 digit number, by which when we divid
32534 and 34069, we get the sammmainders?
1.298 2. 307
3.431 4. Data Inadequate
Of 128 boxes obranges, each box contains at lea
120 andat most 144 oranges. The leastmber of
boxes containing the same number of oranges is
1.5 2.103
3.6 4. Data Insufficient
In a 4 digit number, the sum of first 2 digits is equ
to that of tke last 2 digits. The sum of tHest and last
digits is equal to the 3rd digit. Finally the sum o
second and fourth digits is twitke sum of other 2
digits. What is the number?
11834 24815  §-l458
Findtheuni © s di gi
555+ 735810+ 22 853,

1.4 2.0 3.2 4.6
rA@umber 8 id ebrainew by eguaring the sum of digi
of a two digit number D. If theifference between S
and D is27, then the value of the twaigit number D
is
1.24 2.54 3.34 4. 45
A number successively divided by 3, 4 and 7 leaves|@,
1 and 4 respectively as remainders.
What will be the remainder if 84, divides the sam
number?
1.80

1

4.4158

t of t he

2.76 3.41 4.53

e

~
”

27

e
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l: STUDY NOTES FOR SSC AND OTHER EXAMS .

16.
17.
18.
19.
20.

21.

22,

23.

24,

25,

26.

27.

28

What is the remainder when 4 96 is divided by 67?
1.0 2.2 3.3 4.4

Find the number of zeros in the product: 5 x 10 x 2§
x 40 x 50 x 55 x 65 x 125 x 80.

1.8 2.9 3.12 4.13

Find the last two digits of the product: 15 x 37 x63
51 x 97 x 17.

1.35 2.45 3.85 4. 65

Find the last two digits of the product: 122 x 123 x
125 x 127 x 129.

1.20 2.50 3.30 4.40

The last 3 digits of the multiplication 12345 x 54321
would be

1.865 2.745 3. 845 4, 945

Find the last digit of the number N = 13 + 23 + 33
................ + 993.

1.0 2.1 3.2 4.5

Find GCD of the numbers2 13 andh + 7, where n
is a Natural Number.
1.1 2.2

3.5 4.4

Find the remainder 188" is divided by7.

1.4 2.2 3.1 4.3

Find the remainder when #3 + 239 is divided by
66.

1.2 2.10 3.5 4.0

What is the total number of positive integral solutiong
of the form f, g) that satisfy theequation § + 6q =
2407
1.9 2.11

3.10 4.8

From each of the two numbers, one fourth of the
smalleris subtracted. Of the resultingumbers, the
larger is twice the smaller. What is the ratio of the
original numbers?

1.3:1 2.7:4 3.3:2 4.2:1

There are some fruits in c@iners A and B. If 10
fruits from container A are put in B, bottontainers
will have an equal number of fruits. However, if 20
fruits from container B are pu A, then the number
of fruits in A will be twice number of fruits in
container B. What is theumber of fruits in containers
A and B respectively?

1.70,30 2.60,40 3.100,80 4.60,20

Find the larger of the two numbers, such that the sur
of ther cubes is 637 and sum of thequares is 49
more than the product.

1.7 2.8 3.5 4.6
Find the total number of factors of 888888.
1.6 2.64 3.32 4.128

29,

30.

31

32

33.

34.

35.

36.

37.

38.

39.

40.

41,

42.

What is the higher power of 2 in 1! + 2! + 3!

1.24 2.3 3.0 4.97

If y is a number such thgt= xx, wherex is a positive
integer, what is the difference betweedhe largest
possible twedigit value ofy and the smallest three
digit value ofy?
1.229 2.336

3. 263 4.521

If N is a positive odd number, find the value of

min 150! = 2~ x N.

1.146 2. 145 3.75 4. None ofthese
21— 1 s divisible by

1.11 2.13 3.17 4.19

Il faa ‘is a whole numb-er
2’ is divisible bymus,
necessarily dividea(+ 4) @+ 10), is

1.72 2.9 3.36 4,27

What will be the remainder, whdi3 12 11 is divided
by 9?

1.1 2.8 3.7 4.2

How may odd divisors does the number 1,000,0
have?

1.5 2.6 3.7 4.8

The HCF of two numbers is 28 and the HCF of tw
other nunbers is 82. Find the HCF oflahese four

numbers.
1.2 2.14
3.7 4. Data Inadequate

For how many values @fare,a, a+ 14,a+ 26 prime
numbers?

1.0ne 2. Two 3. None 4. Infinite
For how many values af are,a, a+ 2,a + 4 prime
numbers?

1.0ne 2. Two 3. None 4. Infinite
For how many values af are,a, a+ 4,a+ 7 prime
numbers?

1.0ne 2. Two 3. None 4. Infinite

If last two digits of A, & & A®are the same, then wha
is the digit at the wuni
1.6 2.5

3.1 4. Datalnadequate

What is the remainder when 4+ 4! % is divided by
107
1.0 2.2

3.4 4.6

I f a chari sfmaits cdefuimbed
thatn = m2 andn = p3, then how manyn’ ar e
which are less than 100007 (It being given that &

p are all natural numbers).

1.2 2.3

3.4 4. More than 4

i
t h
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l: STUDY NOTES FOR SSC AND OTHER EXAMS .

44,
45,
46.
47.

48

49,

50.

51

52

53.

54.

How many prime numbers exist in the factors of thg
product 6 x 35° x 1110?

1.20 2.27 3.30 4. 23
On dividing a number by 5, 7 and 8 successively the
remainders are respectively 2, 3 and 4.

What will be the remainders if the order of division is
reversed?

1.4,5,2 2.5,5,2 3.1,2,7 4.4,3,2

A watch ticks 90 times in 95 seconds and anothey
watch tiks 315 times in 234 seconds. tHey are
started together, how many times will theégk
together in the first hour?

1.8times 2.9times 3.7times 4. 6times
A vendor has 748 oranges, 408 apples, and 952 plum
If he patks the fruitsmto crates wittan equal number
of fruit without mixing them, what is the minimum
number of crates?

1.32 2.31 3.33 4. 30

The HCF of 2 numbers is 101 and their product ig
61206. Wiat is the bigger number, if omaimber is
1% times the other?

1.202 2. 404 3. 303 4. 606

The digit at uni t’' s p
increased by 50%nd the digit at tens place tife
same number is increased by 100%. Now we find thg
the new number is 33 more than tiv@ginal number.
Find the originhnumber.

1.63 2.42 3.24 4. 36

A person divides his property into 2 halves. Henthe
bequeaths one half to all hisanddaughters and the
other half to grandsons. He has 13 grandsons and 17
granddaughtersHis grandsons equally divide their
shae between themselves only. Similarly
granddaughterequally divide their share between
themselves only. Eaabne gets some identical silver
bowls. What could be the minimum property of the
person?

1. 442 bowls 2. 221 bowls

3. 884 bowls 4. 1768 bowls

When a certain number is multiplied by 13, the
product consists entirely of sevens. Find sheallest
such number.

A certain number when successively divided by 3 and
5 leavesemainder 1 and 2. What is themainder if
the same number is dividéy 15?
1.5 2.3 3.7

What is bigger: |. ¥ —-9%or Il. 9°%?
1.1 2. 1.

3. Both are equal 4 . Caoorhparedb e

A boy was set to multiply 10,056 by 469, but reading
one of the figures in the questioarroneously he
obtained 412904. Which figure did he mistake and
he took which figure ithat place respectively?

1.4,5 2.0,6 3.6,0 4.5, 4

Four wheels, whose circumferences are 33, 42, 55, §3
cm respetively are set in motion at theame time.
After how many revolutins of the first wheel will

n

—

4.9

55.

56.

57.

58.

2 o8

60.

6L

62.

63.

64.

they all have simultaneouslgompleted an exact
number of revolutions for the first time?

1.210 2. 6930 3. 6660 4.33

A person had a number of toys to distribute amo
children. Atfirst he tried giving 2 toys teachchild,
then 3 toys to each, then 4 to each, then 5 to each, then
6 to each, but was alwajysft with one. On trying 7
he had no toys left with him. What is the smalle
number of toyghat he could have had?

1.61 2.121 3.181 4. 301

Find the gratest number, which is such that
when 76, 151 and 226 are divided by it, the
remainders are all alike. Find also the commo
remainder.

1.25,1 2.35,3 3.75,1 4.25,3

A number when decreased by 3 becomes 108 ti
the recipocal of the numbeThe numbeis

1.6 2.12 3.9 4.18

When 75% of a twaligit number is added to it, the
digits of the number are reversed. Fite: ratio of the
ten’ s digit to the unit
1. 2 1: 4 % 4, 1 2 .
Q'he sufh of the d|g|ts Sk t\Miugl{]number is'1/116f
the sum of the number andetmumberobtained by
interchanging its digits. What is the differenc
between the digits of the number?

1.2 2.3

3.7 4. Data inadequate

Z is defined to be equéb 322 + 32. What would be
the remainder i is divided by 33?

1.1 2.32 3.0 4.2

What is the highest power of 44, which will diviéte
without any remainder? Given the vala€P is 44! x
457

1.4 2.20 3.16 4.1

The ratio between a twdigit number and the
sum of the digits of that number is 4 :Ifithe

S

digits in the unit’s
in the ten’s place, ffi
1.36 2.63 3.48 4.84

What is the remainder when®® + 20 isdivided by
18?

1.3 2. 17 3.2 4.0

F is the smallest natural number, which whe
multipiedby 7 gi ves a monyn8urar
of the digits ofF is G. The last digit of5 *2is

1.4 2.2 3.6 4.8

pl

me
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l: STUDY NOTES FOR SSC AND OTHER EXAMS .

10.

11.

12.

13.

Divide 51 by cyclicityof 2 i.e. 4. Remainder = 3. Now
you can find 23 = 8. Thus 2nd option.

We need to look at only the last three digits of thig
number.

So 354 divided by 8 gives remainder as 2. Thus 2 i
the answer. Thus 3rd option.

Assume values ofto get the anger.

We can find that 1st and 3rd statements are alway
true. So answer is 4th option.

If we are given 2 numbers, we find the HCF only
once. Similarly ifwe are given 3 numbers, we fitite
HCF twice and so on. So in order to find the HCF of
n numbersthe number of times we needfind the
HCF ni-8’ ! Thus 2nd
The only number satisfying this condition is 25.21
x 21 = 441, so possible value of B is 1.

In 146!, number of 5s would be 29. Also number of
52would be 5. The number of®@ould be 1.
Hence the maximum value afwould be 29 + 5+ 1

= 35. Thu2ndoption.
There is only one even prime number i.e. 2 and ther
is only 1 multiple of 5 i.e. 5.

Hence the number of zeroes will also be 1 only. Thu
2nd opion.

N = 1421 x 1423 x 1425,

Remainders when these numbers are divided by 1
are 5, 7and 9.

Their product is 315. Divide it by 12 and find the
remainder to be 3.

34069- 32534 = 1535 should be perfectly divisible
by the number wich is 307 as 13 = 307 x 5. So
answer is 307 which is given in 2nd option.

Since out of 128 boxes of oranges, each box contain
at least 12@nd at most 144 oranges i.e. @ferent

number of oranges, the minimum number of boxes$

containig the same number of oraw is next
integral value of {1285} i.e. 6. Thus 3rd option.
Let the number babcd it is given that

a+d=c--—-—--- (2)

b+d=2@+c)---—------------ 3)

Now going by options, get the number as 1854. Henc
1st opton.

Solving separately for the unit digit of each number,
we get the unit digit of thesthumber as 5, undigit

of the 2dnumber as 9 and unit digit of thei 3

number as 2. Addinthese, we get the answer as 6.
i.e. 4noption.

Work with options to get answer as 54. So number S
will be (5 +4)2 = 81.

%)

option.

o

N

b

14.

15.

16.

17.

18.

19

20.

21

Now the difference between 81 and 54 is 27. Henge
2nd option 54 is verified.

Let the 1st quotient be

So the number becomes [3{«(¥ 4) + 1} + 2] which
is equal to 84+ 53.

Hence on dividing this by 84, we get the remainder
53.

4 =+ 6, remainder is 4. 42 + 6, remainder is 4. 43 +
remainder is 4.

So checking the cyclicity, we get the answer as 4.

Multiply the last two digits at every stage and get t
result as 35, which will be your answer.

The last two digits ofmultiplication can be achieved
by dividing the number by 100 and findinghé
remainder. 125 divided by 100 gives us b5/
(Cancellation by 25). Hence remainder obtained is
(Usually speak you cannot cancel the terms whi
remainders,n case you do, thdmally theremainder
obtained is multiplied with the cancelling factor)
Also 122 divided by 4 gives remainder as 2, 12
divided by 4 givesemainder as 3, 127 divided by
gives remainder as 3, 129 dled by 4 gives
remainder as 1.

So final remainder auld be 2 x 3 x 1 x 3 x 1 =18/4
gives us 2 as the answer.

Multiplying it back with the cancelling factor i.e. 25
gives us the fial answer as 2 x 25 = 50. Heraneswer
is 50.

The last 3 digits of the multiplication 12345 x 5432
would be giverthe product 345 x 321, which i845.
tis theSaddition of cubes
of 1st99 natural numbers.

Using the formula oAl 3N, we get the answer as

[(99 x 100)/23 which would give the last digit a&ero
Putn = 1. So we get theumbers as 15 and 8. Henc
GCD =1.

Puttingn = 2, we get the numbers as 17 and 9 whoge
GCD is again 1.

So for any value of, we are getting two eprime
numbers whose GCD is always 1.

Hence answer is 5o answer issloption.

We will find the gclicity of 18 on being divided by
7.18 + 7, remainder = 4, 487, remainder = 2, &
7, remainder = 1Hence the cyclicity is 3.

So we have to find the remainder whenesl8divided
by 3.

Also we can see that 48s divisible by 3. So the final
answer woul be the third remainder in tlwiginal
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l: STUDY NOTES FOR SSC AND OTHER EXAMS .

22.

23.

24.

25.

26.

27.

28.
29,

30.

3L

32

sequence. Hence the answer is 1, which is the 3
option.

As per the standard result that+ ynis divisible byx
+vyif nis odd.

So remainder is this case would be 0.

Simplifying the equatin you get # + 3q = 120, given
the integers are positive. Solving anidding the
smallest possible value for q as 4 and the largeq
possible value comes out to be 36.

As qis always a multiple of 4, there are 9 such valueg,

Thus Xoption.

We cansee that the part in bracket is actually an
infinite GP of 3 as thesiterm and % as.
So we can solve the given expression and get (0.025

3 .
log —1 Y 0.0256 logse4 = 0.0256/4.

1- =
4

If the numbers are x and y (y < x), we get gguation
asx—yl4=2x3yldY x:y=7:4.

Going by options and verifying thes®ption: If A has
100 fruits and B ha 80 fruits, then 10 fruits pditom

A to B will lead to 90 fruits in both A and B.

Also if 20 fruits are put from B to Ahen A will have
120 fruits and B will have 60 fruits.

So A will have twice the number of fruits as
compared to B.

If the numbers arg andy, thenxs+ ys= 637 anckz +
y2—Xxy=49. Sox + y=13.

Now going by options, we get the answer as 2
option. The other number is 5.

The number 888888 can be written as 3 x 7 x 11

x 13 x 37.

Applying the formula of total number of factors, we
getthe factorsa8(+ 1)(1 + )1+ 1)1+ 1)1 1) (1
+1)=4x2x2x2x2x%x2=128.

The given expression can be written as {1!} + {2! +3!

The first bracket contains an odd number and th
second an even number.

Also Odd + Even = Odd.

As final answer is an odd number, so there is no pows
of 2 in this expression.

Hence required awer is 0.

The smallest possible value for a thabigit y is 256
and the largest possible value for atehigit vy is

The value ofnis basically the power of 2 in 150!.
Soansweris75+37+18+9+4+2+1=146.
216—1 can be rewritten as4{2 1)(2+ 1)(2+ 1). So
out of the given options, it is divisible by 17.

—

\172

34.

35.

36.

37.

38.

39.

40.

41.

42.

43,

44,

45,
46.

Takea =5, 8 etc. Clearlyg + 4) (@ + 10) would be
divisible by 9.

We will find the cyclicity of 11 on being divided by
9. 11 + 9, remainder = 2, 11 9, remainder = 4

113+ 9, remainder = 8, 1} 9, remainder = 7, 5%
9, remainder = 5, 5% 9, remainder = 1

Hence the cydtity is 6. So we have to find the
remainder when %2is divided by 6. Also we can see
that 12sis divisible by 6.

So the final answer would be the @mainder in the
original sequence. Hence the answer is 1.
1000000 can be written as

66235 . So number of odd divisors of 1000000 is
+1=7.

Required HCF = HCF (28, 82) =
be 2. So answer istbption.

a could be 3 or 5 or }---------------- So answer is
infinite.

a = 3 is the only one value satisfying tlisndition.
So only one value.

No value satisfies the given condition as for a + 7
be primea has to be even.

As a resulia + 4 will never be prime.

For 76 and for 25, the last two digits always rema
same i.e. 76 raggl to power anything €ls in 76only
and 25 raised to power anything ends in 25 only.
we cannot get a unique answer, so data is not adeq
to answer the question.

6!aiis divisible by 10 and 4!gives remainder 6 (using
cyclicity). So answer is 6.

2, thus answer wi

If any numbeiis simultaneously a perfect square an
a perfect cube, then that number must tjgoéver of
any other number.

Sothe values afare =1, 2=64, 3=729 and 4
= 4096.

So answer isrdoption.

673 353 1li0= (23 3) (53 7)33 1110=273 373 53

3 733 1Mo

\ No. of prime factors = addition of powers of prim
nos.=7+7+3+3+10=30.

5, 7 and 8; remainders are 2, 3 andl 4The no. can
be calculated as 8 + 4 = 12ivisor).

(123 7) + 3 =87 (2udivisor). (87 5) + 2=437 (Final
no.).

So 437 is divided successively by 8, 7 and 5. We
remainders as 5, 5 and 2.

7 times

Max. items in a crate = HCF of 748, 408 and 952
68.

t
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l: STUDY NOTES FOR SSC AND OTHER EXAMS .

47.

48.

49.

50.

51
52

53.

54.

748 408 952
So minimum number of crates-is— +
68 68 62
Y 11+6+14=31
Let smaller number be and the larger be Ix5¢ x
3 1.5¢=61206Y x2=40804Y x= 202.
\ Bigger no. = 1.5 202 = 303.

Let xy be the 2 digit no. Net increase in the no. after
2 different increases of 50 % & 100 % = 33.
Unit’' s di g iby50 % sand omiccreasea is

50 .
becomes 3——y=3.Y y=6.
100 y y

Similarly 100 % increase makes the value more by 3.

100
100x
No. of grandsons = 13. No. of granddaughters = 17.
Now the total share of both grandsons and
granddaughters has to be a multiple of 13 & 17 bot
(because the totals should be equal and there are
grandsons and 1granddaughtejs
LCM of 13 & 17 = 221x Minimum no. of bowls
=221x2 =442
13x =77 . Go on adding 7 in the dividend.
When you reach 777777, you will see that this no. i
divisible by 13.

=3.Y x=3.\ Number is 36.

On dividing 777777 by 13, get the quotient as 59,829.

Product of 2 numbers = HCFLCM. HCF 3= HCFx
1225x HCF = 35.

Let nos. be 3band 35y x 35x x 35y = 35x 1225x xy

= 35.

Co-prime factors of 35 are 5 andx/Nos. are 3% 5
=175 and 35% 7 = 245.

The smaller number is thus 175, henseoption.

3 and 5---remainders are 1 and 2. Therefore no. will
be of the form k+2. Hencenumber is (& + 2) x
3+1=7x3+1=22(Assumink = 1). Hence
remainder when same no. is divided by 15 is 7.

9 99.9% or &8, Taking 98 common we ge®® (9-1) =
8x9 98

\ Itis bigger than &. Thus first option.

10056 x 469. One figure is wrong. He obtained
4,112,904.

If we multiply 10000 by 470, we get 4,700,000 i.e.
app. 600,000 more

He must have written 409 instead of 469.

So 6 is the possible mistake that he could have mad

p

11

56.

57.

58.

59.

60.

6L

62

63.

64.

LCM of 2, 3, 4, 5, 6 = 60. Tys would be of the form
60K + 1.

We put various values to K so as to make it divisib
by 7. Start from K=1, and check unless you get
multiple of 7. K=5 makes it 301, which is the answe
Greatest no. will be HCF of (15176, 226- 76, 226
—151) i.e. HCF of 75, 150, 75, which is 75.

The common remainder is 1.

Let us assume the no. to e Thus as per the
1

statement,i{—3) =1083 "
Solving this you get a quadratic equation, so it is
better to use options. Puttimgas 12 you get both the
sides as 9. Thus@ption i.e. 12 is the answer.
Let the wunit’ samrd gtidn'od
The original number becomestHou.

Now making the equation (1& u)3 7/4 = 1@+

tY 666=33uY % = % thus 4noption is the answer.

Z can be rewritten as 32 (82 1). Now applying

the basic propertyn + ynis divisible byx +y,
providedn is odd anch remains odd here.

Here because the internal part is divisible by 32 +
= 33, the remainder will be equal to zero.

Thus 3doption is the answer.

The prime factors of 44 arex22 x 11, out of which
11 is a bigger pme number. The multiples of 11 in
44! are 4 in number (i.e. 11, 22, 33 and 44) and thu
4 i.e. kroptionwill be the answer. There is meed

to calculate the multiples of 2 because they will
definitely be much more than the multiples of 11.
Converting M into fractions you geg9

Now in order to convert iota natural number it has
to bemultiplied with a multiple of 999. Check all the
options, only the send option given i.e. 3996 is a
multiple of this and hence it is the answer.

19 raise to power anything when divided by 18,
remainder will be 1. Ne after that when 20 is
dividedby 18 theremainder is 2. Thus the final
remainder will be 1 + 2 = 3 i.e. the first option.

The smallest such number is 63492, which when
multiplied with 7 gives 444444,

Now the sum of the digits of Fis6 +3+4 +9 + 2
= 24. The last digit of 24will be 6 because 4 raise
to power any even number always ends ina 6. Thu
3raoption is the answer.
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